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music_data <- read_excel("musicdata.xlsx")
music_datal[] <- lapply(music_data, as.factor)

Tibrary(readxl)
lTibrary(arules)|

trans <- as(music_data, "transactions')

summary (trans)
inspect(trans[1:10])

1temFrequency(trans)

rhythm_rules <- apriori(
trans,
parameter = list(maxlen = 10, supp = 0.03, conf = 0.3)

)

fast_rules  <- subset(rhythm_rules, rhs %pin% "1IFH M ') A LE=F T UR" & 1ift > 1)
medium_rules <- subset(rhythm_rules, rhs %pin% "8 H D ) A L FE=h { 5 L DT UR" & 1ift > 1)
slow_rules <- subset(rhythm_rules, rhs %pin% "##H MO ) A LFE=p >y & LIE=T2HR" & 1ift > 1)

best_fast <- head(sort(fast_rules, by="11ft"), 15)
best_medium <- head(sort(medium_rules, by="11ft"), 15)
best_slow <- head(sort(slow_rules, by="11ift"), 15)

final_rhythm_rules <- c(best_fast, best_medium, best_slow)
inspect(final_rhythm_rules)
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MBTI=inf|, 2 Z B JEE-BHEHA KL SEEFE > —=f14 -
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RHS

FHD ') X LRER=ENT VR
FHD ) X LBE=ER— T VR
IFHD ') X LRR=ER T VR
FHD ') X LRR=EONT V7R
FHD ') X LRE=E T VR
FHD ') X LRE=ER T VR
FHD ') X LRE=E T VR
WD) X LFR=ENT R
FHD ') X LRR=E T VR
FHD ') X LRE=E T VR
FHD ) X LRE=E T VR
FHD ') X LRER=ER T V7R
FHD ') X LRE=E T VR
IFHD ') X LRR=ER T VR
FHD ) X LR=E T >R

support

0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.06122449
0.06122449
0.06122449

confidence
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coverage

0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.06122449
0.06122449
0.06122449

lift

3.5
3.5
3.5
3.5
3.5
3.5
3.5
3.5
3.5
3.5
3.5
3.5
3.5
3.5
3.5

count
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LHS
MBTI=intj

MBTl=entp

MBTI=esfj

B2 =24 MBTI=int]
MBTI=intj, B b B & & §2 < BFEw=-
MR =2, MBTI=int;

MBTI=entp, IF = FHEY ¥ > JL=Pop
MBTI=entp, % BE < SEE=-EHEEA
MBTI=entp, B ® BE ZiE  IFE&=K
FRE=20~305%,MBTl=entp

B2 =4 MBTI=esf]
MBTI=esfj,5x b X 2 { BFET=-1K
MRl =2, MBTI=esfj

== MBTI=ist]
FRE=20 305K, MBTI=ist]

RHS

FHD ') X LRE=FL 50\DT R
FHD ') X LRE=FL 50\DT R
FHD) XLR=F L 5\OT R
FHD ') X LR=FL 50\DT R
FHD ') X LR=FL 50\DT R
FHD') X LRE=FL 50O T R
FHD') X LRE=FL 50O T VR
FHD) XLR=FLB50DT VR
FHD) XLR=FLB50DT VR
FHD) XLR=FLB50DT VR
FHD) XLR=FLB50DT VR
FHD) XLR=FL50\DT VR
FHD) XLR=FL 50D T VR
FHD) XALR=F L B50\DOT R
FHD ') X LR=FL B50\DOT VR

support
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633

confidence

e i i = T S R S R U =

coverage
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633
0.04081633

lift

1.53125
1.53125
1.53125
1.53125
1.53125
1.53125
1.53125
1.53125
1.53125
1.53125
1.53125
1.53125
1.53125
1.53125
1.53125

count
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